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la| =3 °|B2 g = +3 & a = -3 °|t}.

bl =9 °|B= b =+9 = b= -9 o[},

et a-b 9 F2a=+3,b=+9 L, (+3) - (+9) =
(+3) + (-9) = -6 °]2L

a=+3,b=-9 L W, (+3) - (-9) = (+3) + (+9) = +12 |1
a=-3,b=+49 4 M, (-3) - (+9) = (-3) + (-9) = -12 °]2!
a=(-3)—(-9) = (-3) + (+9) = +6 °|c}.
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Az a, bo st aob=axb-a, axb=3xa-2xb 3 &

{(=5) 0 14} =+ [{(—11) * (—23)} * 13]

(=5) 0 14 = (=5) x 14 — (=5) = —65

(-11)  (-23) = 3x (-11) -2 x (-23) = 13
(=5) 0 14+ [{(~11) » (~23)} » 13]

= 65+ (13 %13)

= —65+ (3% 13 -2x13)

—-65+13 =-5
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